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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
A simple pendulum is being used to
determine the value of gravitational
acceleration g ata certain place. The length
of the pendulum is 25.0 cm and a stop
watchwith 1 s resolution measures the ime
taken for 40 oscillations to be 50 s. The

accuracy n g 15 :
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Options:
1. 3.40%

7 2.40%
3 4.40%

4. 540%

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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TEETHY & RV @] g T HA A FH &
fad fen s 21 afe «es #1 o
25.0 cm 81 3R 39 40 2o F e T 1 s
T8 (resolution) ATET =ZiqaT= H =91 7141
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Options:

1. 3.40% g\\d%\
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2 2.40% S

3. 440%

4_ 5.40%

Question Number : 1 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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2Als5H R I3eM U e Al s
s MIEL dldsl Gl Rl 2ud 8. 2
dldsl detd 25.0 cm © 2 1s [E6lE 41l
2elq <l 40 Eld-L W2 50 s sr2dl WA e 9.

-

g Al WAL AsHg &.

Options:
1. 3.40%

2 2.40%
3 440%

4. 5.40%

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A particle moves such that its po{@n
| D

vector ?{t) =coswti + smot j gherew 1s

a constant and t is ime. Th@%fhich ol the

following statements is tru%m the velocity

?(t} and acceleration ;(t} of the particle :

Options:

1 o and a bothare parallel to ¥

v and a both are perpendicular to

=l

Hl-
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—

. . — o
v is perpendicular to r and a is
3 directed towards the origin

—

v is perpendicular to r and a is

4 directed away from the origin

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T& JATIHE FU F1 9T t ¥ fryfq

T() ~ coswt i A si_nmljr}' g GHI &1 Sl
g T W TF fomid &) T H w0 F a9
(Y TMGHF ©W a(p) KA FFAA T
FH W FIA I &7

Options:

1 7 AR A SHE 7 wHERR ¥

2 7R AT %ﬁﬁrﬂﬁﬁ%{&§
(&\@
S
7 EEdE r % agy i (29 5o

5. Fg =R E

T TEEdE r Al g i few ga
4 AT E R

Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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215 501 2ol dd 2ld 52 5 5 del 22wt
T(t)=coswti +sinwt] 8. sl o 3
D05 2t B W B, dl 5L L 7 (1)

A UL (1) e AR 54 Fan Wy

657

Options:

1 7oA e 7oA iR B,
9 v wlFed T Aded.

Aol 89 2 3 -l (B3 Gom

7 AT Adad A ; -l B G
g ol g2 s B. O
S
>
A
N

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks 1

A particle of mass m is dropped from a

height h above the ground. At the same

time another particle of the same mass is

thrown vertically upwards from the

ground with a speed of .*Egh . If they

collide head-on completely inelastically,

the time taken for the combined mass to

h
reach the ground, in units of Jé is :

Options:
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'
9 \2
3
3. V4
M
4. \2

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

m EFHA F U F0 H 900 9 h 9% °
B2 W1 & | IH THE T GHA 549 & UH
FHU H TTA H T S H S H AR
J2gh i & e o s ¥ a3 &
HAMA-HA (head-on) Ti:Ui?l: AT :

| h S&&
maﬂlﬁfqggt{mw\gﬁ%m
@Wﬁﬂ@ﬁﬁ“ﬁm“&wm:
Options:

i
1. 2
3
2. V2
3
3. V4
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4. \2

Question Number : 3 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

srdl 2l h orzdl Gug w2 #l m s ARIEAL 215
S0 SISl 2Ud 8. 22dl o gL lsa

soi it o wdlorall wedll 2gh wveedl ol
Geellzauml Guadl dzg Sssudl 2uel 8. ed d=il
AL wlell 22smue dyel 2e2eams ¢ dl
dysel g0 A ol HEll Al dpLdl W,

R i
& Al HEHHL, 8.

Options:
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Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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As shown in fig. when a spherical cavity
(centred at O) of radius 1 is cut out of a
uniform sphere of radius R (centred at C),
the centre of mass of remaining (shaded)
part of sphere is at G, i.e on the surface of
the cavity. R can be determined by the
equation :

Options:

1. (RZ+R-1) (2—-R)=1

9 (R2-R+1) (2-R)=1

3. (R*+R+1) (2-R)=1

(R2-R-1) (2-R) =1
4. &
&6
\Q‘G
Question Number : 4 Question Ty, Q Option Shuffling: Yes

Correct Marks: 4 Wrong Marks:

femar T FEar 914 R 5 & 0% UHaEE
T H (T FMHFECWE) 1 =+ 1%
& (cavity) Wﬁﬁﬁ%(ﬂ%ﬂ@?ﬁﬂ
wE) W Fd g e (Trfed) w1 2 E
% G fag (= fo few 91 Ame W 7) 7
TH ¥ R &1 9F 4 | ° FE 9 gHE 5
= T s AFa €2

Options:
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1. (R2+R-1)(2-R)=1

2 (R*=R+1)(2-R)=1

3 (R*+R+1)(2-R)=1

4. (R—R-1)(2-R)=1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sedl R Fsetsinl 215 [HaBid slou (s 5
C 2oL 65) wiEl 1 Bsauson =5 DLB?R
oulld (519]) (/< 573 O 2210 8) 3@1

CleAl HHISL ST4EML UL 8 o413 R URAIE

del MPRL (2RolEld 524) 4G5 HMA b G

2R 8, @izd &, Auld (56 A wdl ut ©.

R wH{lszerl dld woll 2.
Options:

1. (R2+R-1)(2-R)=1

7 (R?-R+1) (2-R)=1

3 (R2+R+1) (2-R)=1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

4. (RR-R-1)(2-R)=1

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A uniform sphere of mass 500 g rolls
without slipping on a plane horizontal
surface with its centre moving at a speed
of 5.00 cm/s. Its kinetic energy is:

Options:
1. 6:25x1074]

2 113x1073]
3. 875x1074]

4. 875x1073]

N
Question Number : 5 Question Type: MCQ O%}m Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

500 g =T =l Uah UHIHIA firee
TU UF Afae FHaE Gag THewal gl =
wWe (rolls without slipping) 41 SHH R
%% I M 5.00 cms ~ ! T | AR TIfas i
g

Options:

1. 625%10°4]

2 11310 37

3. 875x1074]
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4. 875%1073]

Question Number : 5 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

500 g el 2l [HuBia sinid dd beg
5.00 cms 1 a5yl 21l 52 @il dld 215 wnad
A [Eldsy 24wzl vz w35 Adl d dld et
o 9. adlaldBled 0 6.

Options:
1. 6:25x1074]

2 113x1077]
3 875x1074]

4. 875%1073]
S@Q
&

Question Number : 6 Question Typ@CQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks:

M
e [
R
——————————————— 5m
______________ &

Two liquids of densities p, and p,(p, =2p,)
are filled up behind a square wall of side
10 m as shown in figure. Each liquid has a
heightof5 m. The ratio of the forces due to
these liquids exerted on upper part MN to
that at the lower part NO is (Assume that

the liquids are not mixing) :

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Options:

1. 2/3

4, 1/4

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

M

e ] [Efﬂ
— N

4

] |

e
T4 = p, 91 p, (p,=2p,) FET 10m
(faged) | v 29 &1 39E 5 @‘\aas:r
Zall 511 SR % S “m MN g am
Nowaﬂﬁmﬁ'aﬁaﬂaq@%ﬁﬁm(ﬂgnﬁ
ﬁﬁﬁﬁfﬁ?ﬁ%ﬁ%)§
Options:
1. 2/3
2. A2
3 1/3
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4. 1/4

Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

M
__Z7Z”-”"7] |5m
—— N
——————————————— 5m
______________ 3

215l eAcdienl WL 10 m el 204l
WAL MPLp, 24 p, (py =2p, ) Brtcll SRIEAL
ol nedl cral 2 8. &2 uedl-l G
5m 8. Uelldl A Gyl ool MN 21 ALzl
1oL NO W2 AldLell vl 2jelixi

5. (=g Wy weudl=il zisollstui s dl)

Options:
1. 2/3
S
\Q
2. 1/2 &S\
\Q‘Zr
S
3. 1/3
4. 1/4

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A Carnotengine having an efficiency of — 10

is being used as a refrigerator. If the work
done on the refrigerator is 10 J, the amount
of heat absorbed from the reservoir at lower
tlemperature is :

Options:

1. 100]

Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T I S i Sedl {efﬁcmncv} = % AR

meamﬁwnms@%
T aﬁmmﬁ"mmaﬁﬂ@ﬂja

el ST 1 5 © : @$
Options:

1_ 100]

2. %l

3. M

4, 1
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

_ i 1 i ool
51l 250l S1ERAL e oat-l 9, sl

glor dils Gualpl i &, s glor W uq s
10T @i dl Al drvsud srel syl
il Gl sv22n 8.

Options:
1. 100]

Question Number : 8 Question Type: MCQ O%ﬁf&&huffling: Yes
Correct Marks: 4 Wrong Marks: 1 &

Consider a mixture of n mol helivm
gas and 2n moles of oxyge @%—; (molecules

taken to be rigid) as an ideal gas. Its
CI,/EV value will be :

Options:
1. 67/45

9 23/15
3. 19/13

4 40/27
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Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FIfeTaH 719 % n Hieq A1 ST 79 (9%
HAYS F1 € AF) F 2n Ao H FHI0 F
A=Y T8 7 o 59 fAam & fad Cp/Cy
HF!?TTH:

Options:
1. 67/45

2 23/15

3. 19/13

4. 20/27

Question Number : 8 Question Type: MCQ Option&uffling: Yes
Correct Marks: 4 Wrong Marks: 1 \Q

n We @Rledl He o 214 2n Weluziedl

wllsHar-t ey (20 ea ol QU Bisial

wigelay, dils dl. Et‘.-u§ Cyord et
al.

Options:
1. 67/45

7 23/15

3. 19/13
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4. 40/27

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A transverse wave travels on a taut steel
wire with a velocity of v when tension in it
is 2.06 x10* N. When the tension is
changed to T, the velocity changed to v/2.
The value of T is close to :

Options:

1. 250 10* N

9 515x10°N

3 305x10*N

4. 102x10°N

$
Q
%&\

Question Number : 9 Question Type: Mcg@ption Shuffling : Yes
Correct Marks: 4 WrongMarks: 1

= " = Q .
aaq%mg&zzm@%nﬁ WG]
2.06 % 10* N 81 91 560 T <o a5ell U9
T & T v B A TE T " E T T
+ fem 9 @ T I A2 o/2 &
W g1 T &1 96 f 8§ 9§ frges feeaq 27
Options:

1. 250x10*N

2 515%10°N
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3. 305x10'N

4. 102x10°N

Question Number : 9 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sedl vl 2Ed diRe deud 2,06 x 104 N
& cul iRl e w2 deRid d3uHlL el 8.
sl AU ASElA T 21 8 4R el L eAEaH
0/2 AL S, T 4 4 Al %95 B,
Options:
1. 2.50x10*N

7 515x10°N

3. 305x10*N

10.2x 102N
4 S

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider two charged metallic spheres
ST and 52 of radii RI and sz respectively.
The electric fields E; (on 5;) and E, (on S,)
on their surfaces are such that
E;/E;=R4/Ro. Then the ratio
Vy(on 5;)/V5(on S,) of the electrostatic

potentials on each sphere is :

Options:
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1. Ri/Ry

2 . (RI/RQ}E

L (B

4 Re/Ry)

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

g ¥ A g A M S, SR S, o
ﬁm&'m: R.l ﬁ(ﬂz%mﬁlﬁ%lm
TAH Hag W fa=a &5 E, (S, W) a0
E, (S, W) WIFE/E=R/R, AR
e Fegd deear V, (S, R) 91V, (S, M) F
ST V,/ V, B

Options:
$
1. R/Ry S’Q@

Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

R, 21 R, Blsetl aedl o loveuld gt
ol S; @i S, dl duedl Wwdlpil S weq
[y E, 24 S, & 8 E, 2l dd & 3
sefl E;/E,=R;/R, 4L dl &5 oL Y-l
Fad [Byd ERElauHHAl el v, (S,4w)/
V5(S,%r) 8.

Options:

1. Ri/R,

2 . (RIXRE}E

4 Re/Ry)

"~
Question Number : 11 Question Type: MC%@ﬂon Shuffling:"Yes
Correct Marks: 4 Wrong Marks: 1
A capacitor is made of two@.la_re plates
each of side ‘a’ making a %ﬂf small angle
a between them, as shown infigure. The

capacitance will be close/lo :

1LI;r‘]
i
T!E.E.:.—_._._._.____J_ﬂ_t_i_ _______ _
% ;
+ a }_Vz
Options
Eﬂaz 3xca
(1-22)
1. 4 \ 2d)
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F{].ﬂ {1 f.'iax

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

UF YIS 2 R =2 (AFT axa) °
T ¥ W ¥ A U g 9 w0 §
w1 T fo o fommn 0 21 =9 guifts =i

foega nfian =1 § 5 foraer fepeam @it 2
o
V]
TF:__ ............. ".T ....... =
it |
+ a »V, N
Options: K\Q
E{}az ( 3&'&] &§’
M g e B >
1. d 2d ) N
' N\
$
E{}ﬂ.z / ['iail
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Question Number : 11 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2l (AU Cdledl WSl 245 HuRs o AlRY
dsdlil gL viHd B, sl 825 Gy 21 ‘@’ ©.
2l dsdl@il 922 dndl W AL Yel a ©.

YR s (capacitance) _ Al A5
gl
i (EEEEE
e ey |
.1_‘:!:—.3:.: ........... ;_‘:'.LT ....... &
d; i
Vi i
- a r vz
Options:

2 .
epa (1 3&&1
1 ' G ¢ 2}

7 d 2d
2
Epda 1 E
3 d [ | d] \\Q®
N
S
W
£ Elz od Q$Q
2 (1) 3
4‘ d \, 4d )/

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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A very long wire ABDMNDC is shown in
figure carrying current I. AB and BC parts
are straight, long and at right angle.
At D wire forms a circular turn DMND of
radius R. AB, BC parts are tangential to
circular turn at N and D. Magnetic field at

the centre of circle is :

M
4 .F\

I.\\'*-- _,-//IH._
B B 7

Z

Options:

1. 2R 2 )

"~
_ &6
kol &
3 2R N
$
i % (m+ 1)

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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U o= a ABDMNDC o=t 3 famarn wn &
AR 5 fagm s [ 98 W §1 sH AR+ AB
#R BC 9 HiY R U TEL W THEm
T ¥ 1 D W R J9d 2U R B 1 v 9w
DMND =11 991 91 F AB 3 BC 9T 39
99 W HIM: N 991 D T 2991 T = 2 |
59 90 H 99 F FR T FEHE 8 F 7H
e

Options:

kol [ﬂiw
1. 2eR \ 2 )

wol (1
2 27R l 2] S,Q@&
&
W
N
ol $
3. 2R
4 I%(m 1)

Question Number : 12 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

[ Mol H2ddl Wol divll Ak ABDMNDC
wilg[dHi £2Ude 8. AB @i BC sl e, died
24 2isoflaad s2VRILS. D 20010 diR R Bisredl
gl dqeusk DMND i =0l . AB @i
BC 1 @il 21454 N 24 D 24Pl ¥ yeist
8. R0l by 210 sl s

@

M
P
N( o)
ey

B JRI) 2

Options:

1. o (" 72)

H_rﬂ[w L]
2+ 2R \-'E @
N
&6
Q\@»
pol $
3. R N
i .“‘T”I(m 1)

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A particle of mass m and charge q is
released from rest in a uniform electric field.
If there is no other force on the particle, the
dependence of its speed v on the distance x
travelled by it is correctly given by (graphs

are schematic and not drawn to scale)

Options:
v /”/ x
o
1. x
v /’fﬁ
,-"ff
2. T =
v / =
3 T =
S
S\
N
o / QQ\Q
T, S
4.

Question Number : 13 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

m ESIHM % U AT &0, 59 7 169 g
&, 1 UFHEEH fagd & # fer sEen 3 9=
W21 AfE 59 R IS IR = T o W E
SHFI A ¢ G91 THH GRI Fell A W x A
Ty 9 | 9 569 U1F 57 el fohen s
&7 (T Hehere §)

Options:
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v //
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Te ! X

i

(i) f //
_,--""-f

2, X
D ; P

II.-"
3. 4 X

"~
§§

NG
Question Number : 13 Question Type: Q Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: @

m £0L 24 q dlormiz GRiedl 215 560, aedl B
sl Fufid Byd sl ol =g
5. of dril W2 518 o A doig e, dl el
orSU o 2 Bl s14A 2R x Al Wl 2uEw

9. (2udw 2 2is gld 8 o
WY sHHiAl)

Options:
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o 4

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

L R

LT AT A A Fy
L PAVAYAY,

| 1
I e
S $Q\Q
As shown in the figure, a@atter}r ofermtf e
is connected to an inductor L and resistance
R in series. The switch/s closed at t=0.
Thetotal charge that flows from the battery,

between t=0 and t=t_ (t_ is the time

constant of the circuit) is :

Options:
el
1 eR?

eR
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Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

i R
A VYAV
fi—" |
€
5

e ER faeE-a=s 5 ¢ H UF 924
FHAS AU H SIS o7 g U9 L a9 Ay
RATRI T & A fEa S am@t=0 W
== X fom 9= A =0 W t=t_(t_9RI"
1 799 feri® 8) F 9= 920 9 981 Tt

HAEY FHA T
Options:
2
1. eR? g\\QQ\
S
S
eR @
2_ el 2
i
3. &

™
ra|
e
=
|
S

Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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L R

£ i.-'..:'..: ::‘J_\'_hv"* LAVAY
,"

||
| e S

gess2n Lot 2ot R A 2ag(dHl saedl yoret
e emf Gedl Hedl ob Aol sdsausl 2ud ©,
t=0 21 501 8 ML 249 O, t=0 24 t=t,
(t, 2wl A s ©) w2 veiluial

by S

MR Al 54 flsreuz &.

Options:
eL
1 eR2

e}
2 el 2

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A plane electromagnetic wave of
frequency 25 GHz is propagating in
vacuum along the z-direction. At a
particular point in space and time, the
magnetic field is given by

—

B=5x10""% j T. The corresponding
electric field E is (speed of light
c=3x10ms 1)

Options:
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1 15i V/m
9 —15i V/m
9 166x1071° i V/m

4 —166x10 16 V/m

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 GHz #1919 #i U& A9qa f9ga-g=sd
T fara # 2- fewn | =@ W@ T 9z e
UF T99 T U H T H A 64
B=5x10% j T S1d=ei w=a o faem
%Em:(mﬁﬁﬁ{c=3xlﬂsmq 1y

Options:

g e Q)
-I . 151 V/m Q}§
5 - 15i V/m
3. 166x1071 i V/m

4 1.66 x 10716 V/m

Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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25GHz 24dlr srisidl #3dd [Bgrziasly oo
aledleslal Hl z- [Fausl Wy 8, wisiHl dlsy
Cirgai  2d wud,  Yousla &

— A i i 5
B=5x100 jT 2a%a &. dd 2uilis

[yd &2 E 5. ( usrdl 25y
c=3x108 ms—1)

Options:

1 15i V/m
e
9 —15i V/m
3 166 X107 67 V/m

4, —Leox10 16 ; V/m
"~
&%
NG

Question Number : 16 Question Type:: Q Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: @

An object is gradually moving away from

the focal point of a concave mirror along

the axis of the mirror.” The graphical
representation of the magnitude of linear
magnification (m) versus distance of the

object from the mirror (x) is correctly given

by

(Graphs are drawn schematically and are

not to scale)

Options:
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sk ;Il
1+ /
=X
f2f
1.
ITlﬂ|
Far
2.
m
M I-.
y
f =X
f2f
3.
"y
i o &
2SN
>
4 $§Q

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U 3% U =q 597 F THA THF A9 T
o1 U S9F BT § -+t 9 w1 @ ¥
T S A A A A FA M AE I
WA SEHA (m) F AF W SHE 90 g
Tl (x) F WY AL | (UTF HhaTHF &)

Options:
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m! ;I|
1+ 7/
et
f2f
1.
1\
e
2.
vl
1 )
i
3.
S &
Ly &6
f2f NS
N
4, S

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Pl 2AEAL A MHIAR @15 didd dHl
Ale{l (g (focal point) @l ll3-<lH 52 ad
srcllHl 2Uel 85, 2ulld (2l ulbauella) Heqelld
Ui (m) [ERed wiElel dad »idk (x) -l A=l

e

R 8.
(2 2L 2l 2ougld B o HwusHl -eil)

Options:
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X
f2f
1.
m’“‘i
1N
T
2.
m
Ao
y P
f =X
f2f
<
=y \\Q’\'\\
o 6@
"+ =x \Q(b'
f2f N
$
e

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

In a double-slit experiment, at a certain

point on the screen the path difference

1
between the two interfering waves is E th

of a wavelength. The ratio of the intensity
of light at that point to that at the centre of
a bright fringe is :

Options:
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3. 0.672

4. 0.568

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

uF T5-foft 99 § 92 | U ™H W T
FIHIN FIH Tl T FH 9L 3qF
. 1 3
_rr(ﬂ%‘a‘fiﬂg 2| o9 TH ™M 9T Y9 Hi
Tl =1 Ueh IHF el 9l o == H JahT9 &l
s & T 20

Options:

1. 0853

&\‘Q&

V)

2 0.760 $§®
$

3. 0.672

4. 0.568

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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oL So1e Rzl HHPB, WSELURAL 5181 2l
(g @1 sl »iqeEdl (interfering)
s b L
o @l S22 Yy Asler duddl ddadend- e
qPLAL 8, 2 (G 2 e usilid At
AL 1520 AL clsietiAl 21z 8.

Options:
1. 0.853

7 0.760
3 0.672

4. 0.568

Question Number : 18 Question Type: MCQ Optio@huffling: Yes
Correct Marks: 4 WrongMarks: 1 \\Q

An electron (mass m) with initia% ocity
.__-. A M \Q‘b.

v =vgl +7vpj is in arg@ctric field
E _ E{}E' If A is initial, de-Broglie
wavelength of electron, its de-Broglie wave
length at time t is given by«

Options:
A
T me
14 5 5
1 \' 1m ’L"n

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

U THE A (FEE m) 1 IRTHE AT

v =19i +vpj & AN FT UH faga &=

—

E =—Egk H %I "Iﬁgﬁmﬂﬂg‘fw
Wﬁﬁﬂfﬁﬂ?ﬁmhﬂﬂmtﬂqﬂ@?ﬂﬁ
T T 2 \Q(Z”
Option_s: QQQ
% N
22,2
'1 B !;“EJ
1 \( m L‘ﬂ
My
T
1 ; Ez LE
2. ZIn Tﬂ
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Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

15 dasl (Bam) [y g § — g f

WEs oL v =0pi +vp ) HE KA B, s

Ay @ desglel wElGls Sl-sliodl ciadond ¢

al #ud t o ddl sl-aivdl adagend
5.

Options:

2009 N\
,l o Eﬂt S&\Q

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

In the given circuit, value of Y is :

Options:

1. 0

2.1

&\‘Q&
3' toggles between 0 and 1 &
\Q‘Zr
QQ
$

4 will not execute

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fea W ufgg § Y FIAA 2

Options:
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3. 0 3R 149 H gea-=ed

4. ay it @ e

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

yhuaHl Y o e e.
o [a I
1 " P
| oY
0 : $
—— > N
Sk
Options: \Q(b'
N
1.® N\
2.1

3.0 il 1 Al 423 Hdd HEAL 52 8.

4 g siezd 291 dl

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1
A galvanometer having a coil resistance
100 €2 gives a full scale deflection when a
current of 1 mA is passed through it. What
is the value of the resistance which can
convert this galvanometer into a voltmeter
giving full scale deflection for a potential
difference of 10 V ?

Options:

1. 89k0

2 9.9 k()

3 7.9k0

4. 10 kO

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 ®

U e Amdt # el = g 1 ]
W?@ﬁﬁlnﬁﬁgﬁﬂmﬁﬂﬁﬁ% Xl e
Y fadifoa & s g1 3fs =3 ezt
H gge 7 S 10V T3 [EUIER TSt
fasifom 21 9 9 59 W o 91 SekAfaay
1 HIE 2

Options:

1. 8.9k

2 9.9 kf)

3. 7.9k0
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4. 10 k0

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

100 © 28l (core) Al 2191 4sddl »is
Aearidfles qiell sl T mA Mels YHIR s3eUHl
A B ol ddl Yol ¥e 2ed wa B,
el lzaaial 10 V ellsy G2l AL dsied e
yel 25d 2iedd 20U dg diee¥ley v-same
o33l Rl Yo sed eal 7

Options:
1. 8.9k0
2 9.9 k)
3. 7.9k0
"~
4. 10 kO ‘&\@
N
A
S
Sub-Section Number: 2
Sub-Section 1d: 405036105
Question Shuffling Allowed : Yes

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A ball is dropped from the top of a 100 m

1
high tower on a planet. In the last E 5

before hitting the ground, it covers a
distance of 19 m. Acceleration due to

gravity (in ms 2) near the surface on that

e
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

1t02.01

Question Number : 21 Question Type: SA
Correct Marks: 4 Wrong Marks: O

s U2 T2 100 {2t 34 U T & 50 H UH
e R BT TAE | A T ZHTH T2l +

1 = = ™ L o al
s HATTE 19 m 1 T T FTA 21 THIE

T TEETHYY F R =L ] HA (ms 2 H)

3 |

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

1t02.01

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Vs Ve U YR 2UEd 100 m G %i&rﬁ

AURIED (I Etrurl sSloal 2 a@‘z’sﬂﬂﬂ
\
iUl Wéru-il — s ul = 1%@ Ric S0 B,

gl #uwel Aws eauda (ms 2 ui)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

1t02.01

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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An asteroid is moving directly towards the
centre of the earth. When at a distance of
10 R (R is the radius of the earth) from the
earths centre, it has a speed of 12 km/s.
Neglecting the effect of earths atmosphere,
what will be the speed of the asteroid when
it hits the surface of the earth (escape
velocity from the earthis 11.2km/ s) ? Give
your answer to the nearest integer in
kilometer/s

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

16to 16

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

& 0T (asteroid) 91 % FE H 10R (R
Yot &1 3 ®) g0 W IR gt F Fg H
#AR 12 km/s TG T 31 W@ €1 AG gt
e T 1 9 11.2 kms ! A gl F
ATATER0] & YH1E %1 10 HAd BU 59 AETE
=il YA Tl Hde H 2 9HE T Tohai e
(3T I kms ~ ﬁﬁwiﬂlﬁg@“)
| S
_ NS

Response Type: Numeric Q
Evaluation Required For SA: Yes @$
Show Word Count: Yes
Answers Type: Range

Possible Answers:
16to 16

Question Number : 22 Question Type: SA
Correct Marks: 4 Wrong Marks: O

&g U¢ (asteroid) Yeelldl 5w 25 2l 52 8.
yeefldl 5g2l 2 sdR TOR s/2el 2idz & (R 2
yeefl ol Flodl 8) 4E dedl 264 12km/s .
sedly 2 yeelll gl el © cur ggue -l
#su szl gl] il el sdierel Al wirizd
el (yoelldl [ssuel (escape) 4ol
11.2 kms ! &) auiEl seenet saialez/ 4
Al A5 YellsHl 2l

Response Type: Numeric
Evaluation Required For SA: Yes
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

16to 16

Question Number : 23 Question Type: SA
Correct Marks: 4 Wrong Marks: O

Three containers C,, C, and C; have water
at different temperatures. The table below
shows the final temperature T when
different amounts of water (given in liters)
are taken from each container and mixed

(assume no loss of heat during the process)

= €, €, T
1] 21 — 60°C
2 11 2 30°C
2 - 11 60°C
1] 11 11 0

The value of 8 (in °C to the nearest integer)

15

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers: ®
50 to 50 K@

N

&
Question Number : 23 Question Type: @
Correct Marks: 4 WrongMarks: 0 @

$
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C,, C, T C, T W& (Containers) & o
- aTTeE W O T s g e
Al | - HTT A H G oI e
W o 59 T =6 sifm aemE T @1 S
&1 U H fod T uE F° e (e H) @R
AIHE T 1 9 A9 aifer | fear g 2
(7 7 T fafga == =1 9fern |5 3o =1

2T &l 4 §)

0 N 32 T

11 2] o 60°C
= 1 2] 30°C
2 " 1] 60°C
11 1 1] 0

0% AM (°C W) & TAwezad qyui® 2
|
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range

Possible Answers:
50 to 50

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

oEL-5(EL MUl 28 WAl Cp, C, wk@?m
el ez 8. sl syEL-syEL UHIELH R el
yuell (dlevwl) deumi =ud & w@&i SUCEIE
w1d 85 iz 2ildd drHiA @lléﬂﬂ?ﬂ “id
6. (@ig drldl 5 ula ez GodAL oy Al

2l

ol & C, T

11 21 - 60°C
- 1 21 30°C
2] - 11 60°C
11 1 11 0
B« e (Amsel yellsi °C «i)

o.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

50to 50
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Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The series combination of two batteries,
both of the same emf 10 V, but different
internal resistance of 20 ) and 5 {}, is
connected to the parallel combination of
two resistors 30 {} and R (). The voltage
difference across the battery of internal

resistance 20 (1 is zero, the value of
R (in Q) is

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
30to0 30

Question Number : 24 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

FHG A0 H SIS 8% 21 A2l 1 UIed T
(parallel connection) ﬁﬁ%’ﬁ giaigs ari
¥ o= TR SF S2fEl & o T 9w
10 V & 97 39%7 sttafts sfatigsa
200 AR50 T a0 F gfali= 30 Q FLRO
&1 T g # 1fz 20 O A wiahy Sl

S8 3 2ol 1 v A A RO
1 HE & | &6
" - Numei W
esponse Type: Numeric Q

Evaluation Required For SA: Yes @$
Show Word Count: Yes

Answers Type: Range

Possible Answers:

30t0 30

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10V %3 emf Wd 20 Q 2445 O sfEl-5(EL
wictfs wiria duadl o sesleil ([Egasil)
gl 2idlerd A 30 O A R Q AL o 2{eRIE-L
HHIACR Hlor WAL eASHML UL 9. o4 20
wldlks =azia qziedl dedld wuia
llorfRlAAL dstsr 2 €l dl, R -+ Yot

-

(€ L) £9.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
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Possible Answers:
30to0 30

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The first member of the Balmer series of
hydrogen atom has a wavelength of
6561 A. The wavelength of the second

member of the Balmer series (in nm) is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

486 to 486

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

BISS IS TTHM] i AR 7ae & Ueel T2 H1
Te= 6561 A &1 79 TR g@en F THY
TFHF A TCA am HEM |

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

486 to 486 6®
N

Question Number : 25 Question Type: SA &

Correct Marks: 4 Wrong Marks: 0 \Q(b'

18 sl urepl eu 2l @m ey (E2s)
Al aaded 6561 A . el Aeldl ofla
woyd| agdottd nm S

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range
Possible Answers::

486 to 486
Chemistry
Section 1d : 40503667
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25

Number of Questionsto be attempted:
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Section Marks: 100

Sub-Section Number: 1
Sub-Section Id: 405036106
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

For the following Assertion and Reason,
the correct option is :
Assertion : For hydrogenation reactions,
the catalytic activity increases
from Group 5 to Group 11
metals with maximum activity
shown by Group 7 - 9 elements.
Reason : The reactants are most strongly
adsorbed on group 7 - 9
elements.
Options:
Both assertion and reason are true
and the reason is the correct

1 explanation for the assertion.

N
Both assertion and reason ariéé@) t

the reason is not thc\ rrect

2. explanation for the 355%6 1.

The assertion is true, but-the reason

3 is false.

4 Both assertion and reason are false.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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=1 e a9 Fw % foru B faweq 2
FI FEeraHETn Afafean & o,
It TFamied ¥9E 5 9 998
lNdFTed e THE oE7-9F
et § Fay st frarsiteran 2t
7l
FAUT:  THE 7 -9 & Tl 9 ATIHTHI
= AT AT TEerd o g
7
Options:
T T FHROT S HE & a1 R A
1. = =@ = e

YA G FEO S TEl € T HRO

D FEA &I HEl AR T

3. F TR 2, T HRO e

/. A T S e € s<®®
(&\@
S
@Q

Question Number : 26 Question Type: MCQ'" Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A2l 2L 52 2 SRS AR 2L sl
53 s W 97

U gl ulsal e, Gelusld
Alsadl uye 5 ol uye 11 -l
Bl AL o 65 i el 9g dsua
7-9 Al dedl¥l sdsil 4oL 8,

SIRYL {ys 7-9 AL deedl Buz ulsusid

Azl e 2fEe el A s,

Options:
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524 Vi 51201 G MR 5 VA 51381
1. st il well 2l ©.

5%t el SIRGL Gl ML B Wid s1REL
2 st el el w2l

g 5% U © W sRELVE ©.
A, 5% 2 5REL oA vl B,

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider the following plots of rate

1
constant versus ? for four different

reactions. Which of the following, ﬂtd&@jﬁ

correct for the activation energies ese
reactions ? &
Q‘Zr
Q\
S

"\ %
log k 1 a
T -xx"‘x.,_i'-, ¢ \

Options:
1 Eo>E4>E>E,

2. Ed}EL}ELI}Eh

3 E>E,>Es>E,
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4' E‘b}Ea}Ed}E‘t:

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=R fafys aifafretl & fou 9n-fers =
%%mﬁﬁrﬁﬁﬂﬁmﬁfq{ﬁwaﬁfﬁm
= Afafwaen & gfegau Fee & fau
Tortefad 89 § 9 SA 9 HWA 87

log k . d\\]

T ) --H-.-\"\-\._ II". C \\

Options:
1 EBy>E4>E>E,

2_ E'u} E{:}ELI}Eb

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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- : 1
2R (S Wl He, 62 2ais (@384 = -l

DAV Al L @ MBHEiHAl wlEusee
allsailAl il 53 Al wisll 54117

log k ) dhi\
[ S
b =
1/T—
Options:

1' ]:I:"}ELI.}E{}E:I
2' ]:d}EL}ELI}Eh
9 E>E,>E4>E,

E.>E >E.>E
4* b A d (s S’\\Q®
S
S
$
Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

For the following Assertion.and Reason,

the correct option is :

Assertion : The pH of waler increases with

increase in tEII"lpEl’ﬂ ture.

Reason : The dissociation of water into
H* and OH ~ is an exothermic
reaction.

Options:

Both assertion and reason are lrue,
and the reason is the correct

1 explanation for the assertion.
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Both assertion and reason are true,
but the reason is not the correct

% explanation for the assertion.

Assertion is not true, but reason is
3 true.

4 Both assertion and reason are false.

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fafafEa 9= a9 T & fau &l fasey
€
FIT: WA H pH T9 F T2 T T 2|
FEUT: W w1 HTawm OH - H fageH
T S-S AT €

Options:

YA T HEW A TE €, 99T FRW
1. FoF % T =R 2

3. T T &, T FULH ¢ |

A, A TN FR S e

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Alzl s B sREL 2NEL 5. MRl [[bsey

2l
4 i dasiHl @l welHl pH
oL 8.
SREL welld H* 24 OH- i g
(Bl 21 215 G¥zys Ul o,
Options:

5% il 5201 Ol HIRL 5 B SR9L 2
1. sl el wiydl .

5o Vi SRGL G MR B Wi, 501 ¥
7 st well vyl 8.

g s ey il Wiy sReL e ©.

4. s i 51201 Ui Wizl 5.

S@&
$

Question Number : 29 Question Type: @Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1 Q

| R 4,
The radius of the second”Bohr orbit, in
terms of the Bohr radius, ag, in Li3F is:

Options:
235
1. 3
.4:}5[[]
TR
2ay
3. 9
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Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Li2* ¥ fgd| an-+yF =1 =91, 9n &=,

aﬂ?ﬁmﬁ,%:
Option_s:
g
1. 3
4ag
2. 3
25
3. 9
|
4. N
g\
S
NS

N
N

Question Number : 29 Question Ty&’: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

oligz (sl a, -t digel i Lidd dly Al

seAl Blsedl 8.
Optio_ns:

23{]
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Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Arrange the following bonds according to
their average bond energies in descending,

order :
C-CLC-Br,C-F,C-1
Options:

1, €-A>C-Br>C-1>C-F

7 C-F>C-Cl>C-Br>C-1

3 C-1>C-Br>C-A>C-F &
N
&
Q‘Z}
4 C-BI}C-I}C-{]}@\F
- S

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Tafetad srEY =1 39 3ad =y S

% FTER =92 FH H FHESG e
C-€CLC-Br,C-F,C-1
Options:

1. C=Q@>C-Bf>C-I>C-F

P C-F>C-Cl>C-Br>C-1
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3. C=1>C-Br>C-QA>C-F

4 C-Br>C-1>C-A>C-F

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al2L el cfelA ol 232181 o8 GedAL Gzl
sWAL vlisdl
C-CLC-Br,C-F.C-1

Options:
1. C-A>C-Br>C-1>C-F

2 C-F>C-Cl1>C-Br>C-1

3 C-1>C-Br>C-Q>C-F

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Which of the following compoundsis likely
to show both Frenkel and Schottky defects

in its crystalline form ?

Options:
1. 4n5

? el
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3. KBr

4 AgBr

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Ta=fataa 3T § 9 9 o7 e =g
T TrFol a9 Yz 21 2l 1 Yeieid Fa
7

Options:
1. ZnS

2 CsCl
3_ KBr

4_ AgBr gﬁ\

Question Number : 31 Question Type: MCQ: Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

252151 3wl Al llsrAiAL 54U E-se 2
225l 21 eid A2l suld 67

Options:

1‘ ZnS

2 Gl
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4' AgBr

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The increasing order of the atomic radii of

the following elements is :
@ <€ (b O (¢ F
dy A (e} Br

Options:

1 @<®)<©<@d<e)
9 (B)<(©<d<@<@
3. ©<®)<@<@<(@)

1. Wl <{)=<@=<le (&\%

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks 1

g

(@ € (® O (9 F
(d Cl (e) Br

Options:

1 @<®)<@©<d<@

5 ®<©<@<@<(E
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3. (©<b)<(@)<(d)<(e)

4 @D<@<B)<@<(@)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Al 2l deellHl vzell sl 2zdl 54
8 :

@ € @G O & EF

(d Cl (¢) Br

Options:

1. @<®)<©@<@< )
9 ()< <d)<@<@

b d
3. (<)< @<= AN

3
&
4 @<@<B)<@ <@

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Among the reactions (a) - (d), the
reaction(s) that does/do not occur in the
blast furnace during the extraction of iron
is/are :

(a) Ca0+5i0, — CaSi0;

(b) 3Fe,0;+CO — 2Fe,0,+CO,

(c) FeO+5i0, — FeSi0O,

1
(d) FeO - Fe+ 0,
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Options:

1. @
9. (d)
3 (9and (d)

4 (@and (@)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AfFAT (a) - (d), H | AC9E H AFH F
e 3 SR T afed 2 At sfufway
(a) CaO+Si0, — CaSiO,

(b) 3Fe,0,+CO — 2Fe,0,+CO,

() FeO+Si0, — FeSiO;

L

(d) FeO'— Fe+-0, \\Q@
Options: Q}&’%
1. @ &
$
2 (d
3 (9) T (d)

4. (a7 (d)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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el sl (a) - (d) WSl sl (24) 5 o
il [Hesrel efrad s o2l w5/l
A2l A/l

(a) CaO+Si0, — CaSiO,

(b) 3Fe,0,+C0O — 2Fe,0,+CO,

() FeO+Si0, — FeSiO,

1
(d) FeO'— Fe+ 50,

Options:

1. @

3 (0 2 (d)

4. @) = (d)

"~

&6
&

Question Number : 34 Question Type: Option Shuffling : Yes

Correct Marks: 4 Wrong Marks: Q$

Hydrogen has three isotopes (A), (B) and
(C). If the number of neutron(s)in (A), (B)
and (C) respectively, are(x), (y) and (z), the
sum of (x), (y) and (z) is :

Options:

1.1
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Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

SIESTSH & i TEENE (A), (B) 941 (C) &1
AG (A), (B) T (C) & M1 i HEA FHAT:
(x), (y) T (2) ET (2), (y) TN (z) BT A2 :
Options:

T &

"~
Question Number : 34 Question Type: MC@ptmn Shuffling : Yes
Correct Marks: 4 WrongMarks: 1~ O
IS lereL 2191 WH-AUHSL (.@} 2 (Q) 8.
(A), (B) =i (C) Hl =42t Al 2w 2454
(x), () 2 (2) €3 ol (x), ()2 (2)AL Azl
&
Options:

1*1

3. 3
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A metal (A) on heating in nitrogen gas
gives compound B. B on treatment with
H,0 gives a colourless gas which when
passed through CuSO, solution gives a
dark blue-violet coloured solution. A and
B respectively, are :

Options:

1. Na and Na,N

2 Mg and Mg,N,

3 Mg and Mg(NO,),

4' Na and NaNO;

S
S
Question Number : 35 Question Ty, @CQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: &

T 41 (A) AE2reH 719 H TRy FHH 9 AE
B 3@ #I B, H,O F W1 I % T UFH
TTEMA T Z g fwe CuSO, # faemEa 4
WA T T U el Alel—=1 a1 =1 faem
SAEI A 991 B FHAW T :

Options:

-'|_ Na @41 NazN

2 Mg @& Mg3NE
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g3 Mg T Mg(NOy),

4_ Na 991 NaNO;

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25 Ulg (A) A Al Ay M 2RY 59l
HWllord B 4 S, B Al well 2el w2
DA Wy, I O drd CuSO, -l gl
YR 576l 2UslL M3L-sdedl 21 glael 1A ©,
A»A B s B

Options:

1. Na = NagN

7 Mg 21 Mg,N,
3. Mg #l Mg(NOy), S

4. Na 2 NaNO,

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

White phosphorus on reaction with
concentrated NaOH solution in an inert
atmosphere of CO, gives phosphine and
compound (X). (X) on acidification with
HC1 gives compound (Y). The basicity of
compound (Y) is :

Options:
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Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Hihe WO 1% NaOH faers % 919 CO,
= U A T § afufEmn 2 TeRE
AT ATE (X) TAE | (X), HCL 3 T s7efiaha
2T 1T (Y) SA1 €1 AT (Y) T e

g
Options:
1. 1
"~
2. 2 >
\Q‘G

@Q

S
3. 3
4, 4

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U3E 5153l Uig NaOH gier CO, -l
(b5 etz el MlEL 53l S5l 21 HlerA
(X) 49 &, (X) 4 HCl 2@ 2i{lZlsel sl
Helloel (Y) 4O . 2Hlloret (Y) Al AR5l

Options:
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Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The correct order of the calculated

spin-only magnetic moments of complexes
(A) to (D) is:

(A) Ni(CO)y

(B) [Ni(H,O)/ICl,
(©)  Nap[Ni(CN),]

(D) PdCl,(PPhy), s\®®
. S
Options: §.
\Q‘G
1. O<D)<®)<(A) &

$

7 (O=[D)<®)<(@A)

3 (&)= (©Q<® = D)

4 (&= (©=[D)<(®)

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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HFal (A) - (D) F T=H-HH F=EHE A0
EH'EF@W% :

(A) Ni(CO),

(B)  [Ni(H0)6]Cl,

(<C) Naz[Ni(CNh]

(D) Pdd, (PPhy),
Options:

1. (©<D)<B)<(4)
5 (O=D)<®)< (@)
3 (&)= Q<® = D)

4. (&)= (©=(D)<®)

Question Number : 37 Question Type: MCQ O;{@wuffling: Yes
Correct Marks: 4 WrongMarks: 1 6
&

dslell (A) - (D) L aldl 5 g@t 2oisly
o _ N

AEHEAL MR 5 8 $Q
: N

(A) Ni(CO),

(B) [Ni(H,O)¢]Cl,

(C) Na,[Ni(CN),]

(D) PdCly(PPhs),

Options:

1. (©<D)<B)<(A)

9 (O=[D)<B)<(@A)
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3. (A)= (O <®)= D)

4 (&)= (©=[D)<(®)

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Among (a) - (d), the complexes that can

display geometrical isomerism are :
(a) [Py{NH,),CI]*

(b)  [P{NH;)Cls]

(c) [PHNH,),CI{NO,)]

(d) [Pt(NH3}_1ClBr]2 :

Options:

1, (2)and @)
2. (b)and (©)
3. (Qand (@) N

4. (d)and (a) N

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(a) - (d) H |, HFa N =AEAE FHETFA

ey & Hehd %, <

(@) [PyNH,)Cl]*

(b)  [P{(NH3)Clg]

() [Pt(NH,),CINO,)]
(d)  [Pt(NH,),ClBr]>"
Options:
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1. (a) T (b)

5 (b) ()

3. (@ T (d)

4. (@) ()

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(a) - (d) Usl, islell o oliflds uHues gald
8 dil

(a) [Pt(NH,),Cl]"

(b)  [PHNH;)Cl5]

(¢) [P{NH,),CI(NO,)]

(d?r [Pt(NHa}_,‘CIBr}E" %§®
Options: X §
1. @ = ) N
N
@Q
$

7 (b) @ (9

3 () = (d)

4, @ =@

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Two monomers in maltose are :

Options:

1 a-D-glucose and a-D-Fructose

2 ) a-D-glucose and a-D-glucose
3 a-D-glucose and a-D-galactose

A a-D-glucose and p-D-glucose

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o2 § 21 UFe 8
Options:

1. o-D-TIHM T o-D-FFH

W
3. o-D-TEHE T u-D-ﬂ@%’a

4. a-D-TEFME 1 B-D-Tahd

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wiezlnrdl A WAz 9 ¢
Options:
1. o-D-%sbs 44 a-D-21s
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7 a-D-%sbs 2 a-D-¥sbs
3 u-D-:’ligl:hﬂ w a-D-21d52 18

4. «-D-%sbs @i B-D-xgss

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Kjeldahl's method cannot be used to
estimate nitrogen for which of the
following compounds ?

Options:
@)

[l
5 CHyCH,~C=N

A CeHHs NH,

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

fr=fafas aifi § 4 foms fou T &
ARoH o U ez fafy =1 399m == fa
MHFAE?

Options:

O
Il

1 NH;—C-NH,
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2 CH,CH,-C=N

3 CeHsNO,

4 CeH;NH,

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sfeols@ll Tl AdelorAl wRwAnL Al
izl suL HuleeAl 4zl A 25

Options:

Q
Il

1‘ NHE_C_NHE

9 CH,CH,-C=N

3 CHsNO,

4. CeHs NH,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The major product in the following

reaction 1s :

O
J‘k + RS s
P Wi
“CHjy
Options:
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N\ o

q HO “CH,

$
Question Number : 41 Question Type: MCQ @n Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

ﬁqﬁi@aaﬁmng@@%

~CH;

A

Options:

Am.

“CH,

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

o
‘ﬁ
(_,.-".
Wik W)
3 HO CHj,
OH
&
4 "CH;,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AliAl UGl ot Alusr & -

O

~CH,4

Options: @$

o)
¥ N -OH
1 CH;

OH OH

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

.-""-' T
g HO ClH;
OH
AN

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

An unsaturated hydrocarbon X absorbs
two hydrogen molecules on catalytic
hydrogenation, and also gives following

reaction :
03 5 _[As(NHapT"
Zn/H,0
B(3-oxo-hexanedicarboxylic acid)

X will be :
@“
Options: §
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Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T T ARSI X SR B
T T BTSN o 21 U] 1 AFINIA FLAl
o frfatan sifafwan «t 2 2
Qs , a [AgNH:)o]" ;
Zn/H,0
B(3-oxo-hexanedicarboxylic acid)
X BF

Options:

-‘I e T
O
(&\@
N
N N

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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saildlls edglaiul vis Yugiel wdglsieid
X €18 lortrtl ol 2212l 2neL 52 8 i L2l
Ul oL 2l &

05 & [Ag(NH3)A]"
Zn/HO

gsarsrislolsdldls »iRs)

X 8l :
Options:

g

> B (3-2ilsl-

1* o R

4* /f"“a«l @

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Preparation of Bakelite proceeds via
reactions :
Options:

Electrophilic substitution and

1. dehydration
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Electrophilic addition and
2 dehydration

Nucleophilic addition and
3 dehydration

4 Condensation and elimination

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

HAhense 1 faraq fFafataa sAfatwaet 9
EFT ST B
Options:

1. SOIRITEE Wi ae Fster

o TSR AT A e

O

3. RS AT e fier &g\\
Q‘b’

N
S
4. T R T

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

cseudedl oz 59 wlel s
Options:
1. 9aslA 240l Hrare 214 Re/vilswel
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7 9agld URPl qprld 24 Hervilszal
3 & 2Rell owla v [Aedszel

1. Ueirir, ol [H22n

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Among the compounds A and B with

molecular formula CgH,30O5, A is having
higher boiling point the B. The possible
structures of A and B are:

Options:

A = HO \[j/ s

B= HO- ]; I/
&
>

o
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A= Haco-....___ﬂ[,-ﬂ _OCH,

>

OCH,4
‘/ OH

-

~

3 OH

OCHy,

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T A o B, Foem saifvae 97 P§§
?, Hqﬂﬁmmamaﬁm@?
A T B 1 HIfaw SN $Q\Q

Q

Options: %.
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A=H6" ( JH“OH

HO
B e H‘]CD'\-\._\H e GC]‘IS

2. DCH:}

3 OH

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

CoH 05 20134 G210l 2llsvell A 24 B
451, A 4 Gesadldg B sz3dl 94y ».
A A B AL U1 HURBL &

Options:
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A= HSE_"U o ,-'DCH?‘,

OCH,4
I e s
] on

|

HO
4.

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The major product [B] in the following

sequence of reactions is :

CH;—C=CH=CH;CH; (i) ByHq

=)
CHICH) (ii) H,0,, OH

> [A]

dil. H,50,
—

[B]

Options:
CHa—CH—CH=CH—CH N
3 | 3 %Q

CH(CHa) D
1. 352 (@

CH, = C — CH,CH,CHj
|
5 CH(CHj),

CH;—C=CH—CH,CH,
|
3 CH(CHa3),

CH;—C—CH,CH,CHy
I
C

VL o
4 HC CH
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

FAfafEa AfafF-s7F9 5 999 3% [B]
o

'I:..-'Hf;—'ll-.::CH—{-'HzCH} (l} BZHE

— [A
CH(CHs), N g* Al
l[:ll) 11202, OH
H,50
o Hp50, \ [B]
Options:
CH;—CH—CH=CH-CH,
I
CH, = C —CH,CH,CH,
I
5 CH(CHs),
CH;—C=CH—CH,CH,
I
3 CH(CHs)»
N
S\
N
CH;3~C—CH,CH,CH;
e N
N $

4 HSC Cl Ig

Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ANl Uil Belll Al 3o Aluse [B]
Ul

CHy— IF =CH—CH,CH; (i) ByHq

CH(CH,),

— [A]
(ii) H,0,, OH

Options:
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CH, = C — CH,CH,CHj
|
9. CH(CHj),

CH;—C=CH—CH,CH,
|
3 CH(CH3),

CH;—C—CH,CH,CH,
I
C

Y e
4 HiC" CHg

Sub-Section Number: Q’& 2
Sub-Section Id: $\\ 405036107
Question Shuffliq@ owed Yes

N

Question Number : 46 Question Types
Correct Marks: 4 Wrong Marks:

NaClO, is used, even in spacecrafts, to
produce O,. The daily consumption of pure
!‘Clizbj,F a person is 492 L at 1 atm, 300 K. How
much amount of NaClO,, in grams, is
required to produce O, for the daily
consumption of a person at 1 atm, 300 K?

NaClO,(s) +Fe(s) — O,(g) + NaCl(s) + FeO(s)
R=0.082Latmmol 'K

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

2120to 2140
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Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

NaClO, =1 31 O, % IeireA = fery, Hafte
Il # o, fFm o B w = W s
SIS =1 Wiared @1 @9 492 L (1 atm,
300K W) &1 1 atm, 300 K T =T F wiafe
|G F fou sAfEdeE F IAEd F fou
A@¥IE NaClO, &1 AB0 (g &) g

NaClO,(s) +Fe(s) — O,(g) + NaCl(s) + FeO(s)
R=0.082 Latm mol "' K~

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2120to 2140

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0

NaClO, -l 2Assii-Ml O, GeulEd s2al
AR 5. 1 dldl 24 300 K 2l 25 5ol
g 2lislorA-dl BAs vud 492 L . d = fsadl
2[5 vy We 1 el 214 300 K 2L orE®l O,
42 NaClO, -l et (gui)
NaClOj;(s) + Fe(s) — O,(g) + NaCl(s) K@(q}
R=0.082 L atm mol "1 K1 (§»

Response Type: Numeric $Q\Q
Evaluation Required For SA: Yes @
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2120to 2140

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

At constant volume, 4 mol of an ideal gas
when heated from 300 K to 500 K changes
its internal energy by 5000 ]. The molar heat

capacity at constant volume is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

6.2510 6.25
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Correct Marks: 4 WrongMarks: 0

R =1aeA W, UF 37e9 9 F 4 mol F1 94
300 K ¥ 500 K &= "9 &1 = € o sae
Fidfa =t § 5000 | F1 9fad 2 g fer
HET T HeW SO iRy |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

6.2510 6.25

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

242001 EALSL, 25 2UEUARALL HlaA 300 K 2
500 K 2134 53dl d-l =idlzs Gsdxt 5000 T
L3512 M 5. 0L el Himz Gy sl ©

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

6.25106.25

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

For an electrochemical cell Q®
Sn(s)/Sn?* (aq 1M)||Pb?* (aq, 1M&®}
\Q‘b

when &@%ceﬂ attains

the ratio

equjlibrium is

¥

i & '{} — AN
{{_11\. en: L5"2+|5n 014V,
0 - ; IZ.SMRT W
LP[-F'*| 0.13V, = D.{]ﬁ}

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2.13t02.17

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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U SgaUHE S 0
Sn(s)iSn2* (ag, 1M)||Pb2* (ag, 1M)|Pb(s)
% foru, == U1 ArEEn A w1 g

[Sn7] .
- A a—
e /
[ﬁm g Egavgn= 014V,
0 2.303RT W
: — ] =
iy — GV S 0.06

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2.13t02.17

Question Number : 48 Question Type: SA
Correct Marks: 4 Wrong Marks: O

wis daszizREBs slal e,
Sn(s)[Sn” * (ag, IM)||Pb?* (ag, 1M)|Pb(s)

2+

T = -, = S‘ o
o1 5121 HgA LIeRAL UL 52 8 4R %
AL JelR & ; O
. &§
{m{mq: E) 5o =014V, &

Sn~" |Sn Q

| 2 %{l"&g?
E? = ST 5 0 i

i, = n.na}

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers::

2.13t02.17

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Complexes (ML;) of metals Niand Fe have
ideal square pyramidal and trigonal
bipyramidal geometries, respectively. The
sum of the 90°,120° and 180° L-M-L angles

in the two complexes is

Response Type: Numeric
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

20t0 20

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Ni 791 Fe =13 & WaFeli (ML) F1 et
A 3 ffEl qen e fafifast
€1 SFi HFe | 90°, 120° F91 180° L-M-L
0T F AT E |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

20t0 20

Question Number : 49 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

Q2 Ni 24 Fe AL #5191 (ML;) 2454 24152
Wl (b 2 Bstell GRRBYS ofld=i
gad 5. o wdsled A 90°, 120° 24 180°
L-M-L woulidl el 8§

—

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes %§®
Answers Type: Range §
Possible Answers: ,§’

20to 20 Q

N\)
Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O

In the following sequence of reactions the

maximum number of atoms present in

molecule “C’" in one plane is

L e S = N,

Redhot .,  CHsCl(l.eq)
Cutube =  Anhydrous AlCI,

A >C

(A is a lowest molecular weight alkyne)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

13to 13

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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FAfafEn AfafwE A H o0 ‘'C’ § T
ae H, Sufted a1 sfusas gem ®
|

Red hot . CH4CI(1. eq.)
Cu tube EE AICL,

A . i

(A U 3{o9aq HAIH i Tehlsd 8)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

13t0 13

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O

ardedl M Aol 219 ‘C Al 2 o dddl
oz R ALl M vl

SIERNG] | CH,A (1. 4
% T
Cu vl [Hesully AlCl,

(A 25 ~yrtc¥ 2LOMIR B3R 2Us51E)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers: ®
13t0 13 s@
Ny
&
Q .
N Mathematics
Section Id : 40503668
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 100
Sub-Section Number: 1
Sub-Section Id: 405036108
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Let f: (1, 3) = R be a function defined by

fly = 2B

5 where [x] denotes the
2 i

greatest integer = x. Then the range of f
IS :

Options:

. (5:3)

Question Number : 51 Question Type: MCQ Op@%hufflmg Yes
Correct Marks: 4 WrongMarks: 1

W[{I?al{ﬁq‘\@% &l
fo="0 g e )
WExGﬂE‘ﬂfﬂT%l @ FMATERE

OptionS'
. {58
5" 5)
2 i}
2 \5'5
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Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wi 3 f:(1,3)5R, f(x) = Lﬁ'lz 2l
1+x

eIt [Had 8, sedl [x] 2L el |2l yells

< x &, dl B8y fAl Baar Al s =)

Options:

[3 4
1. 5°5)

2 [%%] N
N
Ny
[E lw U[E i} @$®
3 5" 2) \5°5

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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1 +33
iy

Let o = If
' 100 ' 100
a=(1+a) ZJ a2 and b = Z KTEL , then
k=0 k=0
a and b are the roots of the quadratic
equation :
Options:

1. 2+101x+100=0

2 2+ 102x +101=0

3 2 —-101x +100=0

4, 2 =102x +101=0

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HF!T:?:=1|—N§%I Ifg \§®

2 g\
S

100

'::I.:(].i['r::}lt'EZk GE 1053!&,?]"\[
k=0 P k=0

a @1 b 91 9 ¥ fm f59@ 990+ qa

g7

Options:

1. 2?+101x+100=0

2 2 +102x +101 =0

3 2 —101x+100=0
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4 2 -102x+101=0

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

— 1+1i =
U5 o = —J_ S|
2
' 100 .10
a=(1+ a) Lﬁzk Wi b= EHSL €l
k=0 k=0

dla =i b A=Azl s4 gaud qlszeil ol
Y47
Options:

1. 2+101x+100=0

2 2+ 102x +101=0

3 2 -101x+100=0

4 32-102x+101=0 N

Question Number : 53 Question Type::MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let S be the set of all real roots of the
equation, 3¥(3*—1) +2=[3%-1| +|3¥-2|.
ThenS:

Options:

1' 15 an emply set.

2 is a singleton.
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3 contains exactly two elements.

4 contains at least four elements.

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AT FHRT0135(3% — 1) + 2= (3% — 1| + (3% — 2|
F Tl arfas gell FEg=EA S 1 S ¢
Options:

1. O e g 2

2 T E 999 el =g |

Question Number : 53 Question Ty@ MCQ -Option'Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

HRLS S 2 wlszel
3%(3%5—1)+2=[3*—1| +43¥3 2| -l dum
dqrelds oflsd ALl S, A S

Options:

1. vl sw s,

2 2515l 2101 8.
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3 CRLR ol w2sl 4 9.

A. DUEILHL 2USL AR w25l YR 8.

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2. 2 1 0
If F'a=[_ W and I=[ 1, then
g 4 01

i b A

10A lis equal to:

Options:
1. 6l— A
7 4AI-A
3 A-dl
4, A-el &
(&\@
S

Question Number : 54 Question Typ%’: MCQ' Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2 2 NIV
Eﬁ';ﬂ&:[_ W qgr I= W%,?ﬂ
9 4) 0 1)

10A~! =ET T
Options:
"| 6l —A

2 4l-A
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3. A-4

4. A-6l

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

" 2 21 . 1 {W R
sl A= 2uU4d [ = 1A dl
[_9 4 [n )

10A~1=
Options:
1 ol— A

7 4-A
3. A-4l

4. A-el N

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks:'1

The system of linear equations
A +2y+2z=5

2hx +3y+5z=

4x +Ay+62=10 has:

Options:
1 a unique solution when A= —8

2 no solution when A=28
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3 infinitely many solutions when A=2

4], no solution when A=2

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I T fEm

A +2y+2z=5

2hx+3y +5z=8

dx +Ay+62=10

Options:

1. FHETH AL A= -8

2 1 FTE 2 921 © o A=8

3 & T B © o A =2
Q
Q

S\\

»
4. N HE T A € h=2Q\QQ”

@$

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

yaul wlsvel Held
Ax+2y+2z=>5
2Ax+3y+5z=8
dx+Ay+62=10 <

Options:

1. A=—8HL it Gy 8.
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7 A=8 Wi 518 G5 -2l
T A=2UE Hd Ghdl B.

4. =2 e 518 Gid .

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If « and B be the coefficients of ¥* and x%

respectively in the expansion of

' 6 ———\6
(x Fx’ lw I (x uxz lw , then:
: /

; !
Options:
1. at B=060

2 a—p=-132

a+p=-30
3. &

4, «B=60

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

. a p (]
Ilﬁ{[xlv'lxz IJI[I x° l];&F
TER H x4 T4 22 F OF HEI: o G941 T,
GUE

Options:

"I_ a+ =60
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2_ a—p=-132

3. atp=-30

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4 e (5] ".I{T ;
| (1 b Vx2 ﬂ I (1 Va2 1] -l
/

A
[aczerl x? 21 x? Al 125l 21454 o 2
B &M, dl
Options:
1 K + B =60

9 a-p=-132
3 atp=-30 $Q\Q

4 a—pB=60

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1
If the 10th term of an A.P. is 0 and its

1
20t term is ﬁ , then the sum of its first

200 terms is :

Options:
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3 100

1001
2

4.

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

. . |
%ﬁwﬁmmmﬁﬁ & g1

THH 20 91 IS 1_1[1 2, 91 59 9YH 200 981 H
A
Options:
50

1. \Q®
g\
»
. \Q‘Z}
50> &

1 N

Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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— WR—— - [g—
s HHIR %@ﬁ(A.P.jjIDgusﬁémmd

o T L | Rl
dd 20 ¥ ue S0 Sl ol Al MEH 200 YEL Al
MY S2el M)

Options:
1. 50

3 100

|
4 100

Question Number : 58 Question Type: MCQ Opt{@ﬁuffling: Yes
Correct Marks: 4 Wrong Marks: 1 g\
' &

£ N
- L} L sin(100)dt —— &
x50 N

’ $

Options:

1.

1| =
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I +
- J'ﬂ Lsin(101)dt 3.

x—0

Options:

s
1.

A

2_ 10

€]
3 10
4, 0

X

Question Number : 58 Question Type: MCQ Optio@huffling: Yes
Correct Marks: 4 Wrong Marks: 1 S@
S

x i
i jﬂ Lsin(10t)dt

x—l

Options:

4
1. 5

GRUAT ¢ A
0

x @Q
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Let S be the set of all functions f: [0, 1] = R,
which are continuous on [0, 1] and
differentiable on (0, 1). Then for every fin
S, there exists a c € (0, 1), depending on f,
such that :

Options:

1. F@—-fO)I<[f'@)
9 f@-fM)]<(1-9[f©)
3 @+ <1+9 /@)

f(1 C .
[ /@ _
4. 1-c
$
N
Sk
NG
Question Number : 59 Question Type:; Q Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: @

HA G e i £ [0, 1] = R, SLfR[01] ™
Had & 991 (0, 1) T SATHor 4 o), F =14 S
Tl WS HyAw fF fow fm R uE
c e (0, 1) =1 #Afae 79 ¥ & T

Options:

1. fO-fmI<If©)

>, f©-fM)|< -9 f @)
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3. fE+HM]<1+9f'©)

) -f© _ g,
i Ty R

C

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

il 5 S 24 el o [EEL [0, 1] =R -l
AR 5o [0,1] WR Held 2 (0, 1) u= [Esadlx
9. dl S AL uels f e £ G 2uaEld i
s ce(0,1) 4 el © % o2l

Options:

1. F@—-fO)[<[f'@)

9 fO-fM)<1-9 |fE)

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The length of the perpendicular from the

origin, on the normal to the curve,

12+21y —f:'-y?-:EI at the point (2, 2) is :
Options:

1. V2
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

5k 12+ 2xy—3y2=0 & fog (2, 2) W EH=
T Afqera W e fag 9 26 ™ o= F
?FEITSr%':

Options:

1. V2

3. 2 \\Q’\'\\
g@

S

| N

4, w2 S

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A5 22+ 2xy—3y2=0 - [Qg (2, 2) 2w
wftder Gur Goploguiell eRa det -l deud
Sedl a?
Optiqns:
1. V2
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3. 22

4 42

-

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

dx

2
If 1=
J; JZ:{H 9x% + 12x + 4

, then :

Options:

lc:Ize.:i

1'9 8

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

?If_dlzf e CA
1 V233 — 92 +12¢ +4
Options:
1{12-::1
1.
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ia:lz-::i

2 16 9

level

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 ; " 2
o 1= | i Sl dl
1 V2 — 92 4 12x +4
Options:
ltzlzqi
1 9 8
| $
ie.:[zc:l gQ&Q
2. 16 9 N
. Ny
©
QQ
$
lc:lz-{l
3‘ 2
_{12{1
4. 6 2

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The area (in sq. units) of the region
f(x, e R2:x2 =y = 3-2x},is :

Options:
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Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4 {(x, y) e R2: 22 = yy = 3—2x} T &4AFA

(=i gepmedi ®) ¥
Options:
32
1. 3
"~
| D
2 &
2. 3 S
$
3
3. 3
3_4
4. 3

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Mgl {(x, YeR*: 22 sy=<3-22} sHa50
(2l @is4l) seq )
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Options:
32

1. 3

N
(L]

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The differential equation of the family of
curves, Yo= 4db(y+b),be R, is:

Options:
PP r \\
1. "=y S
NS

9 Xy =x—2yy’
3, Xy)P=x+2yy

4, Xy =2yy —x

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TR x2=4b(y +b), b e R & Fe1 T FAAHA
TR 2
Options:
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o xy)P=x-2yy’

3. WP=x+2yy’

4. y)=2yy —x

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o5 Hsld x2=4b(y + b), be R  [Esa a{lszel
AlziAinizl 2] 2?

Options:
1. W' =y
$
9 Ay =x-2yy’ S\\Q
' S
S

3. dy)P=x+2yy’

4. *y)=2yy —x

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If a line, y = mx + cis a tangent to the circle,
(x = 3)*+y*=1 and it is perpendicular to a
line LEr where Ll is the tangent to the circle,

x2+y?-= 1 at the point (%, %J, then :
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Options:
1. ©—7c+6=0

2 +7c+6=0
3. +6c+7=0

4 c2—6c+7=0

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

I TF W y=mx+c, Ta (x—32+12=1
# UF IV T ¥ a1 98 UF W L, WA

%EIETLlﬁ?Ix“+y2—IEHﬁ|§{ 5 11

2
W oY T,
Options:
1. S-Tc+6=0 Q
&
¥
, &
2 c+7c+6=0 Q

3 CH+bc+7=0

4 c2—6c+7=10

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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o e S = |
HRLS L, 2ledna? +y2=1 [ {_ _]
f V2 V2)

2PAL 2WLS B, st WLy =mx +c 2 A
(x=3)2+y?=1 -l 2als ¢l =4 T L, 4
det €14 ol :

Options:

1. & 7ct6=0

3 2+7c+6=0
3. CH6c+7=0

A c2—6c+7=0

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
N
it

If a hyperbola passes through tl@o
P(10, 16) and it has vertices at QO , then
(10, 16) (&90)

the equation of the normal tglitat P is':
Options: @
1, 3x+dy=94

7 x+3y=>58
3 x+2y=42

4 2x+5y=100

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Ife us Afqrae™ fag P10, 16) 9 & A1
& 91 5HF W9 (+6,0) WE, @ P W sHH
FAfeTl = T T

Options:
"| 3x +4y=94

2_ x+3y=>58
3_ x+2y=42

4. 2x+5y=100

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sd 2ildaad (645 P(10, 16) Hizl v 2udl €
2 del RIRIGE2LL (£6,0) 2210 €14, dl dd
Rig P 2011 =itdor wedlszal rﬁag{{é&

5% 2317 &
Options: &%
1. Bx+4y=94 @$

2* x+3y=>58

3 x+2y=42

4 2x+5y=100

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1
The mirror image of the point (1, 2, 3) in a
7 & 1 _
plane is { 3’ ?r EW Which of the
.« : 2)
following points lies on this plane ?

Options:

1 (-1 -1,-1)
9 (1,1,1)
7 (1 -1,1)

1. (—1,—-1.1)

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

fa= (1,2, 3) 91 U 99ad | Yidf&a= (mirror

/ 4 1 -
image}.[ 3" g’ E] = ﬁ‘qqi@l
a1 fag =9 T9de W foog &2 §®
Options: &’Q\Q%

1. Hh-1-9 @

2 (11,1
3_ (=11}
4. (-1

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
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Correct Marks: 4 WrongMarks: 1
[ (1, 2, 3) 4 25 wudaul 20l uldliv

7 4 1) . T —
( — = —W 6. izl £ [Gg 2u
3" § 3

ML ¢l )

Options:

1. (-1, -1,-1)
7 (1L,1,1)
3 (1,-1,1)

4 (-1L-11)
Question Number : 67 Question Type: MCQ Option Shuffling: Yes

" If @ 1xa

Correct Marks:.4 Wrong Marks: 1 ®
L —_ A A -, \Q d
et a=i-2j+k n

a =i-2] >
; S
Ly A A P \Q —
b =i~ j + k be two vect

N
vector such that b x ¢ = b ». & and

— =

c-a= 0, then ¢ * bis equal to:
Options:
1
1. 2
1
2 2
3 -1
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ba | w2

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

qET g1 Gfesl 4 =

9FR % fF bxc=bxa @l
c-a-0%dc-b Y
Options:
1
1. 2
2
2. 2
S 7 s\®®
§Q§
QO
| S
3 N
4, 2

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

" -

Ak = 2), Pk oo

o

b=i—j+kAublS s c =

&

uEn dMiwdl b x ¢ = b x a =

—% — _\—} —
cra=0%d c~ b =
Options:
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[
bd | =

i
2‘ 2
3 -1

E
4 2

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The mean and variance of 20 observations
are found to be 10 and 4, respectively. On
rechecking, it was found that an
observation 9 was incorrect and the corrgct
observation was 11. Then the c%%ect

N

variance is : &
o NS
Options: &Q
1, 558 S

7 3.99
3 401

vl 4.02

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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20 YeAON F HIEg A9 THLO A 10 99 4
T | Y 9" wH W 9 T U
Y& O Terd A1 T HWEl U 11 o911 a1 HWal
TR ®

Options:

1. 3.98

3. 4.01

il 4.02

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

20 2dlsrlnl Hers wi (SRl 253 10 244
4 sl HO 85, Yt ustuellal WgH U {@5
2edis 9 Wig © 2 WE 2edls IR,
2] [eizel o 22l) \Q‘b%
Options: @&Q

1. 3.98

3 4.01

i 4.02
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Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let A and B be two events such that the

probability that exactly one of them occurs

2
is E and the probability that A or B occurs

is é then the probability of both of them

occur together is :

Options:
1. 0.01

7 0.02
3. 010

4. 020

Question Number : 69 Question Type: MCQ Optio&@huffling: Yes
Correct Marks: 4 Wrong Marks: 1 S@

WAﬁmBﬁaﬁﬁwW%f@ﬁﬁ%
3 \Q‘Z}

)
mwmﬁaﬁr%%mmmwwmﬁ
il & :

Options:
1. o0.01

O TF & BM &1 TGl ATB &

2 0.02

3. 0.10
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4. 0.20

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ARl 5 A 24 B il tzAil 8 5 sl duidl
5 )

R 25 B2l HHell HoeldHL = Y i

A 24l B eHdiHl HousHl % QM dl e

alzel2dl 1B AL oL sedl =)

Options:
1. 0.01
2 0.02
3 010
"~
4. 0.20 &5
\Q‘Zr
&Q
$

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks:1

Which of the following statements is a
tautology ?

Options:
1. PV (*D = pAg

9 ~p Vv ~9 = PAg

9 ~(PA~d > pvq
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4.

~(p v ~q) = pvq

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

=1 | 3 = o1 F9A U TR B 2
Options:

1. PV (~9) — PAq

o ~pv~9 = prq

3 ~(p A ~q) = pvq

4. ~(Pv~9 - pvq

Question Number : 70 Question Type: MCQ Opti@huffling: Yes
Correct Marks: 4 Wrong Marks: 1 g&\

AlbAiel 54 [Ean Aoty 57 ,§’

Options: QQ\Q
1. PV —prg
g ~pv~9 — prg

~(p A ~q) = pvgq

~(p v ~q = pvq
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Sub-Section Number: 2
Sub-Section 1d: 405036109
Question Shuffling Allowed : Yes

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The number of 4 letter words (with or
without meaning) that can be formed from
the eleven Iletters of the word
‘EXAMINATION"is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2454 10 2454

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

= ‘EXAMINATION’ F TRE 393 9 =949
HFH 91l 4 A & V=al (AY T 991
AqfaEH) T =N T |

Response Type: Numeric
Evaluation Required For SA: Yes

Show Word Count: Yes .®
Answers Type: Range SQ\Q
Possible Answers: @
2454 to 2454 "b.

N

Question Number : 71 Question Ty@A
Correct Marks: 4 Wrong Marks: O

310 ‘EXAMINATION’ i 2B 2amisl
4 Al Aol 52l 2106l (22 uez s 22 2léd)
oLl 21514

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

2454 10 2454

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

FD(2n+1
it El(n ) is equal to

7
The sum, 2_

n=1
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

) £ n(n 1.}(211I1] S

n=1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: O

7
Senidt 5 n(n+1)(2n+1) L.
— 4 —_"

n=1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
O

N\

S
Question Number : 73 Question Type: Q)
Correct Marks: 4 WrongMarks: 0 Q\
Let f(x) be a polynomial egree 3 such
that f( —1) =10, f(1)= —6, f(x) hasa'eritical
point at x= —1 and f'(x) has & critical
point at x =1. Then f(x) has a local minima
at x=
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range
Possible Answers :

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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L EI 3 1 U FETE f(x) $H R E R
f(=1)=10, f(1)=—6, f(x) 1 TF FHifaF
fagx= 1299 f' (x) 1 UF FHifas fag
x=1%1 @ f(x) = TF ™A Fraf= 7

x= |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 73 Question Type: SA

Correct Marks: 4 Wrong Marks: O

QiRL 5 f(x) 2 Baud guel © 5 oA we
f(=1)=10, f(1)= =6, f(x) A x= —1 2410
[etixs (G © @14 £/ (x) A x=1 209 [Helys
(B . dl f(x) 4 2adld ~Ady,
x= UL Y3l

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA K®®
Correct Marks: 4 Wrong Marks: 0 §

Let a line y=mx (m > 0) in@?éct the
parabola, y2=x ata point P er than the
origin. Let the tangent tn§[ at P mmeet the
x-axis at the point Q. If area (AQPQ)=4
sq. units, then m is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

0.5t00.5

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

HAl Tsh @l y=mx (m > 0), T 2=x
=+l g1 fag &% wifaftaa v fag P ™ Fredt
&1 T P W sHE o9 T a1 F A Q
R fHerdt #1 Afs AOPQ &1 &Fw%el 4 i
Eﬂé%ﬁTmﬁlﬂ_ﬂ%_ |

P S O S s
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

0.5t00.5

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

4IRS Ly =mx (m > 0) 21w y2=x
Georm (45 (Mo [GE P ol 82 6 2 A P
(G5 2110l 23ls -8 G5 Q Ui v B, sd
AOPQ « #azn-4 Al.2is% ¢y dl

m=

il

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

0.5t00.5

Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0

It J2sina =Eam:l 1 cc}sZ[ﬂ: 1

J1+ cos2a 7 \ 2 Jﬁ "

: _
a, e tﬂr 5 | then tan(a+ 2f) is equal to
: J

e O
&6
Response Type: Numeric Q(b'
Evaluation Required For SA: Yes $Q\

Show Word Count: Yes @

Answers Type: Range

Possible Answers:

ltol

Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0

u'ESinu' 1
T | £ | |
J1+ cos2a 7

1 cnsZ[:’J: 1 .uﬁe[ﬂ
Y 2 J10 °

tan(e+28) T E |

] & @
£

E

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:
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Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0
~  2sina |
oA ==

V1+ cos2a 7
-|1 cos2p 1

2 J10

dl tan(a +2p)= AL,

B

-

S

sﬂiurﬁe[ﬂrz
J e B

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

ltol

%Q
gz,%
Q‘Z}

$
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